U—X%& 2020FE=FESVF 95— QEARTI—JIBidE |
k5] 2020%1H19A ~ E1L—X E2L—A EIL—X EAL—X E5L—X EO6L—X
5 AT =HREE ESi L= 2012/10/7 2012/10/7 2020/1/18 2020/1/18 2020/1/18 1900/1/0
S N a2 7 [X AB—FEZ 1900/1/0 1900/1/0 1900/1/0 14F5025y007> | ORF00.00F) | OFF005>00F)
SCEATE = B % 1900/1/0 1900/1/0 1900/1/0 1485235308F) | OB¥002700%) | 0FF00200F)
L—R#ETEZ]  1900/1/0 1900/1/0 1900/1/0 1483457047 | 0BF00400%) [ ORF00300F)
LEENEYTS 1900/1/0 1900/1/0 1900/1/0 0RF005700%) | ORF004700%> | OREF00%00%)
g A )LNo.ZE A LTSN, BLE(m/s) 1900/1/0 1900/1/0 1900/1/0 0 0 0
HEARFAFIXISSN], 15 A470(ES470] ArC ) 1900/1/0 1900/1/0 1900/1/0 0 0 0
x5 1900/1/0 1900/1/0 1900/1/0 0 0 0
No EEZ B | E(XF) [A)LNoCRIE)] ZE1L—X EP I F3L—X E F5L—X F6L—X L—R R
_ _ EAAN Er | B | B | B2 | BR[| &5 | B [ 85 | BR[| B2 | 1B | &5 [EHMSE] B
1| —1h I 1 MOS 3806 2 2 1 0.75 1 0.75 1 0.75 1 0.75] DNS 8 13 1
2| %2 Lfin—BA 2 MOS 4255 1 0.75 2 2 2 2 3 3|  RET 8]  DNS 8 23.75 2
JBLE— ITX557 3] MOS 4257 DNC 8| DNC 8| UFD 3 2 2 2 2| DNS 3 36 3
PN 4 MOS 3744 3 3 3 3 RET 8 RET 8] DNS 8] DNS 8 38 4
5|{TAIEA = 5 MOS 4131 4 4 4 4]  RET 8] RET 8] DNS 8] DNS 8 40 5
QET I 2 6 MOS 3989 RET 8] DNC 8] DNS 8] DNS 8]  DNS 8]  DNS 8 48 6
1REB= E 6 MOS 3988 DNC 8] DNC 8] DNC 8] DNC 8] DNC 8] DNC 8 48 6




